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Instructions:

e Do not turn to the first page until you are told to do so.

e Write down your name, your contestant number and your school's name on
the answer sheet.

e Write down all answers on the answer sheet. Only Arabic NUMERICAL
answers are needed.

e Answer all 25 problems. The total is 120 points. For problems involving
more than one answer, full credit will be given only if ALL answers are
correct, no partial credit will be given. There is no penalty for a wrong
answer.

e Diagrams shown may not be drawn to scale.

e No calculator or calculating device is allowed.

e Answer the problems with pencil, blue or black ball pen.

e All papers shall be collected at the end of this test.
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Section A (4 marks each)
A A (B 4 77)

1. How many minimum squares must be shaded to make the given figure symmetric?
b 2/ ik FR 2 /DA IE T T, A RETE O FRETE ? .-

2. ““ zK” is the unit of height for aliens on a planet. The aliens will grow 10zk every month till
60zk, thereafter, the aliens will only grow 5zk in a month. Below are the heights of 3
aliens as of to date, who will has the height of 75zk in 6 months time ?

“zk? RANENEG S RAL, RGN HKE 102k, BT 602Kk FmE, BN RaK 52k THE
R HAreMm e, Bam—MNENSAE 6 e KmE] 75 zk?

3. Every animal represents different single digit number in the mathematic operation as
below (same animal will represent same single digit number). Find
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4. The solid below is made up of identical cubes of edge 2 cm. It is stuck firmly onto the
ground with super glue. A coat of green paint is then applied onto the solid. What is the
total area of the solid that is painted green ?

B FAE RN NI DT R HERA T, I AKHR R 2em. IRESHBOK M Tl e, REiR b
o, Bk EOE R L > cm? ?

5. Cut an 18-meter rope into three pieces so that the length of each piece is 3 meters longer
than the previous piece. What is the length of the longest piece ?

B2k 18 RKI% T, 7PM=B WEREE BT — Bk 3K, Ak —BH K2
X2

6. Mary’s age is 3 years less than 4 times Tom’s age, her age 3 years later will be Tom’s age
9 years later. What is the age of Mary as of 2017?

YA IS ES LI IR R 1) 4 15/ 3, F4F 3 SR JA MRS THMM 9 R i, . HE0 2017 4

e 2OE

7. Form a bigger rhombus (pic 2) from the smaller rhombuses (pic 1). It is known that the
diagonal length of the smaller rhombus is 16cm. How many smaller rhombuses are needed
if the diagonal length of the bigger rhombus is 160cm?

K (D AN, PR (2) BIRER . CHRVNETERH AKX M4 16 cm. 4]
(2) PHIRZETL KR A2 160 cm I, FREZ/DANE (D /N ER?

~
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>
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16 cm .
K (D
(pic1)
K (2
(pic 2)
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8. Every symbol represents a positive integer greater than 1. In order to fulfil the below
mathematic operations, what number is ’Yrepresenting?

GMEERL A ERE, BAT |, ARNERLRRNL. W2 FH0SAm o,
Y i .4

3t

A-4-T
1y

9. A, B, Cand D are discussing their results after MIMO competition :
A : If I won the Gold medal, B also won the Gold medal.
B : If I won the Gold medal, C also won the Gold medal.
C : If  won the Gold medal, D also won the Gold medal.

All the three of them are telling the truth, but there are only 2 Gold medal winners.
Who are the Gold medal winners ?

U472 00 MIMO 23812545 AL By CF1 D, SRS IR TR A4S :

Al “ WIRIRBERK, BaBHEEE.

Bit: “ WRPHEK, WA CBBRER, 7

C¥t: “ WRFFEY, WA DWHEEK. 7
DL =0 A U R g, (HIX DY AN SR E R 2 A2 AR a4 . Wl XY AH, fER1E 4
3.9

10. Which of the figures below best fits the series ?
7] 5 4b %S A By Cy Dy By F A fms— AN 2

& DA 2
7 8l R

Section B (5 marks each)
B 4 (55 77)

11. The graph below is part of a road map. There are two persons at point A and B
respectively. They start their journey at the same moment, walking through all the road
and finally reach point C. If both of them walk at the same speed, who will first arrive
point C?
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PMERZAFEMBLE. AMNFRDAFEAEZE A B P&, Wiz ra Lk C
Hio FIAA HiH R NI B 1 i BN BE— AN SE BIIA 2
c B

(A) A (B) B (C) same time [EIfHEiA \/

A

12. What value needs to go into the upper box to bring this system into balance? Note:
The lever is divided into equal parts and the weight of each box is taken from its
midpoint.

MERTR, mCRETNEZ/DRTE (9) KA BRI TAT? I A B, BBKE
#H—F. METHERETHAME.

’?”[ﬁ“ —128g 88 =7 g

13. What number when you multiply it by 5 and add 6, then multiply that result by 4 and add
9, gives you a number that, when you multiply it by 5and subtract 165, gives you a
number that, when you knock off the last 2 digits, brings you back to your original
number?

K —HoRPL 5 e, FRERFL 4, BN Ja, XHEZRFKLL S G 165, &M%
W BB e AR, AR TR, g2 b

(A) 1 (B) 0 (C) 100 (D) none (&H:x#tty%r) (E) Any number ({EfakBerid)

14. In the triangle ABC, D is the midpoint of BC, E & F equally divided AC. It is known
that the area of AABC = 72cm?. What is the area of ACDE ?

mE, £=/A ABCH, DEBCHIT A, E. F2& AC =545, CA =/ ABC [ A
& 72cm?. =3¢ CDE WM &% /> cm? ? 4

15. In how many ways can 15 books be allocated into 5 packets, with no empty packet ?
B 5 AAFR RN, BHEEA— MRS, —HHZDMARR AT

16. A family love soft boiled eggs & hot soup. The father likes to eat 5 soft boiled eggs
which boiled for seven minutes & hot soup boiled for three minutes; the mother likes to
eat 3 soft boiled eggs which boiled for eight minutes & hot soup boiled for seven
minutes; the son likes to eat 5 soft boiled eggs which boiled for ten minutes & hot soup

5
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boiled for ten minutes; the daughter likes to eat 2 soft boiled eggs which boiled for 15
minutes & hot soup boiled for two minutes. If the family has only one big pot, what is
the least time needed to make sure all the family members are able to enjoy their
favourite food ?

H—NxkE, BNNKEEMIG . EEEWNE 5 NE T EME 3 2oz, s

Wz 3 NE 8 BN T . LT ERZ 5 AN 10 B SR 10 g . T2 )L
W 2 16 AR EME 2 2. B AFKRE — DR, BT e ax ANGHE
ey, ZIEZ AR ?

17. We want to draw a number of straight lines such that for each square of a chessboard, at
least one of the lines passes through an interior point of the square. What is the least
number of lines needed for a 4 x 4 chessboard?

TERE— AN/ INITRE R IR D7 TR BB s T2 B4, ATw s/ bm 2/ bk EELLMENA 4 x 4
HORAN A=k SO

18. An ant crawls on a cube from A to B, Find the angle of AOB in degrees.
NSO IE TR R T 00 A SRS B A, FTIERRIN A AOB 2 /b ?

7
I
, .

.
§
.
.
L5 ‘

19. The 4™ term of an arithmetic series is 33 and the sum of the 5" term and 8" term is 96.

Find the 15" term of the series.
KBRS I IR 33, S LIRS )\ IR 96, SREE 15 1.

20. Two players take turns taking marbles from the dishes according to the rules below. In
order to win the game, how many marbles should a player take on the first turn? And

from which dish ?

1. Two players take turns taking one, two or three marbles from one dish per turn.
2. The player who takes the last marble wins.

AR T AR, PR T AU R Oy T RS ELRE, E RN TR 2 A
SRER?
LN —A 7 B EE —A . P E =ik,
2. 550 Ja AR ER A BU SR -

a—

a—

—

=
ST e s S
(A) (B)
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Section C ( 6 marks each )
C H (& 677)

21. Avan left Town E at 11:00 am and travelled towards Town F. Two hours later, a
car left Town E for Town F and travelled along the same route. The car passed the
van at 4:00 pm. The average speed of the car was 40 km/h faster than the van. Find the
average speed of the van.
—Wi BT B 11:00 A ESTTIT HERTAE F IR, PN S, AR AR R BR A [ )T
e T4 4:00 I, BRI %Y. QP2 @EE LR RAERE R 40 kn/h. RETTAE
T

22. Twenty mathematics-training team members of grade four in Lai Meng School have
finished working out 2017 problems in a 3-day special training period. Each student
has completed different number of problems and the student who has done the most
problems finished 114. What is the minimum number of problems which the
student who has finished the fewest problems has completed?

AR U SR B TEFRARIBN 20 4422 GUE = R @R, BILMH0E 2017 4>, B2 F i
RECEAK R, Horp U8R 2 28 B 5E R T 114 AN, TR AU b 1) R 2 D i %2 /b 2

23. Tom and Mike were fishing. Tom got 4 fish and Mike got 3 fish. John came. Three of
them ate the 7 fish. To be fair, John paid $201.60 for the shared portion. How much
should Mike share the $201.607?

DI e N, I T 4 5%, E T 3 5%, IEHERIGII iR, LEdSRINAGZf, i
seffa, NTAT, LEEHS201.60, WA, FriZyF2 g

24. There are four alphabet decorative lights, MIMO, each being programmed to light
once every 3, 4, 5, 6 minutes respectively. If the teacher switch on the power at
9:00am & off the power at 6.30pm, how many times will the four decorative lights
be lit simultaneously ?

V0% MIMO R & R O ER: 3, 4, 5, 64045 m—k. HZMER 9 SIETE g
VR, BRI 6 55 30 04 o, TUE MIMO FRHT &—ig= ([FA—ifE 4 ITH#=E) £

b YDDD

25. Digits 2,0,1 and 7 are to replace the four letters in the below mathematics operation :
BAD + MAD + DAM
What is the maximum sum one could possible get?

TEINEH A BAD+MAD+DAM 1, F 2. 0. 1. 7 XUNMERE UANFEE,  (FERAFRF
BEIA RS, MR B A R R ARSI £ /b2

A |
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